7

114

\
OBC

Oskoyi Ballbearing Company

Linear Motion Component © Guides & Bearirgs © Slide Table

GRS - S

M M1
& © © > i q
- = [ o o o o i
= = HE{ - - - - il j
< © © E
P2 NXP3 02
NXP2 N
L

Specification

Model No. | Max. | Roller | Main ?r'nmn?)ns'ons Mounting Dimensions (mm)
p— Stroke | Dia.
Somosion | (mm) | (mm) | W | T | L | T, T, | W, | W, | M M. | Q| Q.
R
GRS20-25-S 12 25 5
3.5
GRS20-35-S 18 35
GRS20-45-S 25 45
GRS20-55-S 32 1.5 20+0.1 | 8%0.1 55 7.5 4 6.6 14 M2.5*3.5L M2.6 12.5
7.5
GRS20-65-S 40 65
GRS20-75-S 45 75 22.5
GRS20-85-S 50 85 12.5
GRS30-35-S 18 85) 7.5
3.5
GRS30-50-S 30 50
GRS30-65-S 40 65
GRS30-80-S 50 2.0 3040.1 | 12+0.1 80 11.5 6 12 22 M3*5.5L M3 17.5
10
GRS30-95-S 60 95
GRS30-110-S 70 110 325
GRS30-125-S 80 125 17.5
GRS40-55-S 30 55 10
7.5
GRS40-80-S | 45 80
GRS40-105-S 60 105
GRS40-130-S 75 3.0 40+0.1 | 16£0.1 130 15.5 8 16 30 M4*7.5L | M4*7.5L | 275
15
GRS40-155-S 90 155
GRS40-180-S 105 180 52.5
GRS40-205-S 130 205 27.5
Ordering GRS | 20 ) 25 ) S
Example : |5 type table| |Table width| [Table length| |Corrosion Resistance

@ site : www.10OBC.com (021) 33913364 - 33951660 : wals J
B4 Email : Borhan772000@yahoo.com (021) 33985603 : sSSP




N

OBC

Oskoyi Ballbearing Company

Linear Motion Component © Guides & Bearirgs © Slide Table

GRS - S

Material Specification

Component
Material

Model No:

Table Rail Retainer Roller

GRS -8 SUS440C+Ni SUS304 | SUS440C

Table and rail are in one unit in this series.
GRS-S No Surface finished to V-groove
surface of the rail.

Roller retainer
center Roller retainer

center

% Each of load and torque changes oppositely in stroke variation

D?::rl'r?ic gtzst:z ':I‘Igl‘g- SIELE RGOSl Weight ;:fg:‘:a'\cﬁ;z:l?g)
N*P. | N*P; Loadc(ia)lting Lo%iol(?'\?;ing llz_l?(al\(lj) (N“./In':) (NMr;) (NMJ]) (k) Paraterim | Paraidiom
118 | 2*7.5 379 576 192 1.4 1.2 1.4 0.02
128 | 210 523 865 288 24 2.6 3.0 0.03 )
1*20 | 3*10 657 1,153 384 2.9 4.6 5.2 0.04
130 | 4*10 783 1,441 480 3.6 7.2 7 0.05 2
2720 | 5*10 903 1,729 576 4.3 10.4 1.2 0.06 5
1*30 | 6*10 1,131 2,306 769 5.8 18.4 17.3 0.07
2730 | 7*10 1,240 2,594 865 6.5 23.3 22.0 0.08
128 | 1*20 895 1,170 390 5.1 3.1 3.9 0.08
143 | 2*15 1,652 2,339 780 10.1 12.5 10.9 0.12 ‘
1*30 | 3*15 1,849 2,924 975 12.7 19.5 17.5 0.15
145 | 4*15 2,134 3,509 1170 15.2 28.1 30.4 0.19 2
2*30 | 5*15 2,407 4,093 1364 17.7 38.2 40.9 0.22 5
145 | 6*15 2,930 5,263 1754 22.8 63.2 59.6 0.26
2*45 | 7*15 3,181 5,848 1949 253 78.0 741 0.30
1*40 | 1*40 2,901 4,567 1622 26.5 22.8 26.6 0.23
165 | 1*65 4,338 7,611 2,537 441 63.4 57.1 0.34 ’
1*50 | 1*50 5,646 10,655 3,552 61.8 124.3 115.4 0.45
175 | 1*75 6,268 12,178 4,059 70.6 162.4 172.5 0.56 5
2*50 | 2*50 7,462 15,222 5,074 88.3 253.7 266.4 0.67 3
175 | 1*75 8,603 18,266 6,089 105.9 365.3 350.1 0.78
2*75 | 275 9,157 19,789 6,596 114.8 428.8 445.2 0.89

s oals o

D site : www.10BC.com
EX( Email : Borhan772000@yahoo.com

(021) 33913364 - 33951660

(021) 33985603




	65: 65-66
	Page 66

